
 

 Supporting Information    

 

Supporting Information 

Discovery and Mechanism Study of SIRT1 Activators that 

Promote the Deacetylation of Fluorophore-Labeled Substrate 

Jiahui Wu 
[a] †

, Dengyou Zhang 
[b] †

, Lei Chen 
[a]

, Jianneng Li 
[c]

,
 
Jianling Wang 

[d]
, 

Chengqing Ning 
[e]

, Fei Zhao 
[b]

, Niefang Yu 
[e]

, Dongying Chen 
[d]

, Xiaoyan Chen 
[f]

, 

Kaixian Chen 
[b]

, Hualiang Jiang 
[b]

, Hong Liu 
[b] *

, Dongxiang Liu 
[a] * 

 
[a] 

Department of Pharmacology III,
 [b]

 Drug Discovery and Design Center, 
[d]

 

Department of Analytical Chemistry, and 
[f]

 Center for Drug Metabolism and 

Pharmacokinetics, Shanghai Institute of Materia Medica, Chinese Academy of 

Sciences, 555 Zu-Chong-Zhi Road, Shanghai 201203, China; 
[c]

 School of Life 

Sciences, Fudan University, Shanghai 200433, China;
 [e]

 Institute of Molecular Design 

and Drug Discovery, School of Pharmaceutical Sciences, Central South University, 

Changsha 410078，Hunan, China 

 

Table of Contents 

1. Chemistry ............................................................................................................ S1 

1.1. 3,5-Dibromo-2,4-dihydroxybenzaldehyde (15b) .......................................... S1 

1.2. 3,5-Dibromo-2-hydroxy-4-methoxybenzaldehyde (15c) .............................. S1 

1.3. 3,5-Dibromo-4-hydroxy-2-methoxybenzaldehyde (15d). ............................. S1 

1.4. Methyl 6-(methylsulfonyl)-2-naphthoate (18c) ............................................ S2 

1.5. HPLC Analysis Data of the Diaryl Acylhydrozone Analogues ..................... S3 

2. Biology ................................................................................................................. S5 

Table S1. The activities of compounds for SIRT1-3. ........................................... S6 

Figure S1. Isothermal titration calorimetry. ......................................................... S7 

Figure S2. Quantify the deacetylation of AMC-labeled or unlabeled peptide ...... S8 

Figure S3. The effects of compounds (1, 4 and 20b) on SIRT1 deacetylation 

activity ............................................................................................................... S9 

Figure S4. Sequence alignment of SIRT1 and SIRT3 ........................................ S10 

Figure S5. Dose-response curve and Lineweaver-Burke plots of 20b for SIRT1 

wild type, SIRT1
Q345A

 and SIRT1
V445A

 .............................................................. S11 

Figure S6. Dose-response curves of 20b and 1 for SIRT1 wild type amd 



 

 Supporting Information    

 

SIRT1
R446A

, Lineweaver-Burke plots of 1 ......................................................... S12 

Figure S7. Ramanchandran plot of “SIRT3/ac-RHKKac-AMC” complex crystal 

structrure and “SIRT1/ac-RHKKac-AMC” complex model structure ................. S14 

References…………………………………………………………………………..S15



 

 

 

S1

1. Chemistry 

1.1. 3,5-Dibromo-2,4-dihydroxybenzaldehyde (15b).
1
 

 

To a solution of 2,4-dihydroxybenzaldehyde (5 g, 36.20 mmol) in 50 mL of 95% 

EtOH was added dropwise Br2 (4.64 mL, 90 mmol) at room temperature. The resulting 

mixture was stirred for 1 h. The precipitate was filtered, washed with EtOH/H2O (1/1, 

v/v) and dried to afford 6-bromonaphthalene-2-carbohydrazide as a light orange solid 

in 79% yield. 
1
H NMR (400 MHz, CDCl3) δ 11.98 (s, 1H), 9.68 (s, 1H), 7.70 (s, 1H), 

6.60 (s, 1H); MS (ESI, m/z): 292.8 [M-H]
-
. 

1.2. 3,5-Dibromo-2-hydroxy-4-methoxybenzaldehyde (15c).
2
 

 

To an ice-cooled solution of 2-hydroxy-4-methoxybenzaldehyde (500 mg, 3.29 mmol) 

in 2 mL of DMF was added dropwise a solution of NBS (1.29 g, 7.23 mmol) in 2 mL 

of DMF. The resulting solution was stirred for additional 15 min and diluted with Et2O 

(100 mL). The organic phase was successively washed with water (3 x 20 mL), 

saturated Na2S2O3 (30 mL), dried over anhydrous Na2SO4 and concentrated under 

vacuum. The residue was recrystallized from hex/Et2O to afford 

3,5-dibromo-2-hydroxy-4-methoxybenzaldehyde (628 mg, 62 yield%). 
1
H NMR (300 

MHz, DMSO-d6) δ 10.01 (s, 1H), 7.88 (s, 1H), 3.90 (s, 3H); MS (ESI, m/z): 306.8 

[M-H]
-
. 

1.3. 3,5-Dibromo-4-hydroxy-2-methoxybenzaldehyde (15d). 

 

Prepared in a similar manner as described for compound 15c. 
1
H NMR (300 MHz, 

DMSO-d6) δ 10.01 (s, 1H), 7.88 (s, 1H), 3.90 (s, 3H). 



 

 

 

S2

1.4. Methyl 6-(methylsulfonyl)-2-naphthoate (18c).
3
 

 

To a solution of 6-hydroxy-2-naphthoic acid 35 (500 mg, 2.66 mmol) in 5 mL of 

MeOH was added slowly thionyl chloride (0.48 mL, 6.64 mmol). The resulting 

solution was refluxed for 3 h. After concentration, the residue was diluted EA and 

washed with saturated NaHO3. The organic layer was dried over anhydrous Na2SO4 

and concentrated under vacuum to afford methyl 6-hydroxy-2-naphthoate 36 (511 mg, 

95% yield) as a white solid, which was used in the next step without further 

purification. 
1
H NMR (300 MHz, DMSO-d6) δ 10.18 (s, 1H), 8.50 (s, 1H), 7.98 (d, J = 

8.4 Hz, 1H), 7.86 (dd, J = 1.6, 8.0 Hz, 1H), 7.77 (d, J = 9.0 Hz, 1H), 7.21-7.15 (m, 2H), 

3.88 (s, 3H). 

A mixture of methyl 6-hydroxy-2-naphthoate 36 (450 mg, 2.23 mmol), 

dimethylcarbamothioic chloride (344 mg, 2.78 mmol) and DABCO (312 mg, 2.78 

mmol) in 6 mL of DMF was stirred at room temperature overnight. The reaction 

solution was diluted with water (60 mL). The mixture was extracted with EA (20 mL x 

3). The combined organic layer was washed with waterand brine, dried over anhydrous 

Na2SO4 and concentrated to afford methyl 

6-(dimethylcarbamothioyloxy)-2-naphthoate 37 (625 mg) as a light yellow solid, 

which was used in the next step. H NMR (300 MHz, DMSO-d6) δ 8.66 (s, 1H), 8.17 (d, 

J = 9.0 Hz, 1H), 8.05-7.98 (m, 2H), 7.71 (d, J = 2.1 Hz, 1H), 7.38 (dd, J = 2.1, 8.7 Hz, 

1H), 3.93 (s, 3H), 3.40 (s, 3H), 3.38 (s, 3H). 

A suspension of methyl 6-(dimethylcarbamothioyloxy)-2-naphthoate 37 (625 mg, 2.16 

mmol) in 6 mL of Ph2O was heated at 200 
0
C for 4 h under argon inert atmosphere. 

After cooled to room temperature, the mixture was purified by silica gel column 

chromatography (PE/EA 1/6-4/1, v/v) to afford methyl 

6-(dimethylcarbamoylthio)-2-naphthoate 38 (186 mg, 29.7%) as a white solid. 
1
H 

NMR (300 MHz, DMSO-d6) δ 8.67 (s, 1H), 8.19-8.13 (m, 2H), 8.11-8.00 (m, 2H), 

7.59 (dd, J = 1.8, 8.7 Hz, 1H), 3.93 (s, 3H), 3.09 (s, 3H), 2.95 (s, 3H). 

To a suspension of 6-(dimethylcarbamoylthio)-2-naphthoate 38 (182 mg, 0.63 mmol) 

in 6 mL of MeOH was added 10 mL of 5N KOH. The mixture was refluxed for 3 h 

and cooled with ice-water bath. Dimethyl sulfate (0.66 mL, 8.04 mmol) was added 

dropwise to the mixture. The resulting mixture was warmed to room temperature and 

stirred for additional 4 h and acidified to PH ~3 using concentrated HCl. The white 

precipitate was collected by filtration and dried to afford 6-(methylthio)-2-naphthoic 

acid 39 (132 mg, 94% yield) as a white solid. MS (ESI, m/z): 217.0 [M-H]
-
. 



 

 

 

S3

A suspension of 6-(methylthio)-2-naphthoic acid 39 (150 mg, 0.69 mmol) and 

NaBO3
.
4H2O (899 mg, 5.84 mmol) in 4 mL of AcOH was heated at 55 

0
C for 2 h. 

Water was added to the suspension and white solid was precipitated. The white solid 

was collected by filtration and dried to afford 6-(methylsulfonyl)-2-naphthoic acid 40 

(77 mg, 45% yield). MS (ESI, m/z): 249.0 [M-H]
-
. 

To a suspension of 6-(methylsulfonyl)-2-naphthoic acid 40 in 4 mL of MeOH was 

added catalytic amount of concentrated H2SO4. The resulting mixture was refluxed 

overnight. After the removal of organic solvent, the residue was extracted with 

chloroform. The organic layer was washed with saturated NaHCO3, dried over 

anhydrous sodium sulfate and concentrated under vacuum to afford methyl 

6-(methylsulfonyl)-2-naphthoate 18c, which was used in the next step without further 

purification. 
1
H NMR (300 MHz, DMSO-d6) δ 8.79 (s, 1H), 8.69 (d, J = 1.5 Hz, 1H), 

8.42  (d, J = 8.7 Hz, 1H), 8.33 (d, J = 8.4 Hz, 1H), 8.13 (dd, J = 1.5, 8.7 Hz, 1H), 

8.05 (dd, J = 1.8, 8.7 Hz, 1H), 3.94 (s, 3H), 3.33 (s, 3H). 

 

1.5. HPLC Analysis Data of the Diaryl Acylhydrozone Analogues  

1.5.1. General method for HPLC analysis: HPLC analysis was conducted according 

to different eluent. The retention time (tR) is expressed in min at UV detection. HPLC 

analysis was performed on a Zorbax Eclipse XBD-C18 column (4.6 × 150 mm, 5 mm) 

at 23 °C.  

 

Compounds Retention Time (Min) Relative Purity (%) 

16a 10.18 
a
 99.28 

16b 8.85 
b
 99.03 

16c 6.89 
a
 96.09 

16d 23.56 
b
 95.70 

16e 6.43 
c
  98.13 

16f 16.59 
a
 99.29 

16g 6.32 
a
  96.32 

16h 14.51 
d
 97.26 

16i 2.27 
a
 95.71 

16j 3.32 
b
 98.59 

16k 3.90 
b
 99.03 

16l 9.18 
b
 98.90 



 

 

 

S4

16m 13.82
 b
 98.94 

16n 9.41 
b
 98.41 

20a 3.59 
b
 97.17 

20b 10.71
 a
 96.84 

20c 8.04 
b
 97.64 

20d 8.59 
a
 95.16 

20e 5.64 
b
 96.63 

20f 10.50 
b
 95.79 

20g 16.07 
b
 95.11 

20h 10.79 
e
 98.20 

20i 15.38
 a
 97.09 

a 
CH3CN(0.1% TFA)/H2O (0.1% TFA) (65/35, v/v, flow rate: 0.6 mL/Min, 254 

nM); 
b 

CH3OH(0.1% TFA)/H2O (0.1% TFA) (70/30, v/v, flow rate: 0.6 mL/Min, 

254 nM); 
c
 CH3OH/H2O (70/30, v/v, flow rate: 0.8 mL/Min, 254 nM); 

d 

CH3OH(0.1% TFA)/H2O (0.1% TFA) (70/30, v/v, flow rate: 0.6 mL/Min, 230 

nM); 
e
 CH3CN(0.1% TFA)/H2O (0.1% TFA) (65/35, v/v, flow rate: 0.6 mL/Min, 

230 nM). 

 



 

 

 

S5

1.5.2. HPLC spectra of compound 20b 

 

 



 

 

 

S6

2. Biology 

Table S1. The activiation of SIRT1, SIRT2 and SIRT3 by the compounds at the 

concentration of 50 µM. The data were obtained by at least three independent 

experiments. Reaction wells with no compound were used as control. The signal from 

the sample wells was divided by the signal from the control wells and then multiplies 

by 100 to give the “percentage of control”.  

 

Compound 

Percentage of Control 

SIRT1 SIRT2 SIRT3 

1   197±13 
a
 114±5 105±1 

7 217±12 126±9 102±2 

8 192±22 187±3 102±1 

9 173±4 85±1 86±1 

10 375±6 109±10 89±1 

11 325±2 83±16 81±2 

16a 170±10 121±6 121±1 

16b 184±3 87±2 78±2 

16c 339±18 119±3 93±3 

16d 209±2 103±5 98±3 

16e 131±1 85±4 86±3 

16f 246±5 95±1 90±4 

16g 186±3 88±3 98±3 

16h 263±16 91±1 88±1 

16i 317±17 86±3 84±3 

16j 292±11 82±12 88±3 

16k 288±4 84±1 98±8 

16l 137±4 85±1 84±1 

16m 130±6 89±7 93±1 

16n 109±1 110±3 101±1 

20a 146±5 125±14 88±2 



 

 

 

S7

20b 649±10 90±1 105±3 

20c 114±14 117±3 92±5 

20d 233±11 92±4 88±3 

20e 364±20 92±2 89±1 

20f 421±5 89±3 85±3 

20g 609±13 89±7 83±1 

20h 217±7 118±17 103±3 

20i 191±3 200±7 183±4 

a 
197±13: 197 means that compound 1 activates SIRT1 by 1.97-fold at the indicated 

concentration; 13 represents the standard deviation of three independent experiments. 

 

Figure S1. Isothermal titration calorimetry was performed to detect the binding ability 

of peptide to SIRT1. The data was fit to a one-site binding model. A) 2.5 mM 

ac-RHKKac-NH2 was titrated to 102 µM SIRT1. The Kd value is 44.4±11.0 µM 

(Mean±SD, for three independent measurements). B) 2.5 mM ac-RHKKac-AMC was 

titrated to 124 µM SIRT1. The Kd value is 184.3±9.8 µM (Mean±SD, for two 

independent measurements). 

 

A)                                      B) 

 

 



 

 

 

S8

Figure S2. HPLC chromatography was used to quantify the deacetylation of 

AMC-labeled or unlabeled peptide. A) The absorbance curve (220 nm) of 

fluorophore-unlabeled substrate, ac-RHKKac-NH2. The peaks corresponding to DMSO, 

NAD
+
 and ac-RHKK-NH2 were indicated with arrows. B) The absorbance curve (325 

nm) of AMC-labeled substrate, ac-RHKKac-AMC. 

 

 A) 

 

 

B) 

 

 

 

 



 

 

 

S9

Figure S3. The effect of the indicated compounds on SIRT1 deacetylation activity. 

White columns represent the reaction with ac-RHKKac-AMC as substrate; grey 

columns represent the reaction with ac-RHKKac-NH2 as substrate. The reaction was 

performed under the same condition as the screening assay and detected by HPLC as 

described in the experimental section. 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

S10

Figure S4. Sequence alignment of SIRT1 and SIRT3. 

 

 

 

 

 

 

 

 

 

Loop A 

Loop B 



 

 

 

S11

Figure S5. A) Dose-response curves of 20b against SIRT1 wild type and mutants 

SIRT1
Q345A

 and SIRT1
V445A

. B) Lineweaver-burk plots of ac-RHKKac-AMC peptide 

for SIRT1 wild type and mutants in the absence and presence of 10 µM of 20b.  

 

A) 

 

B) 

 

 

 



 

 

 

S12

Figure S6. A) Dose-response curves of 20b against SIRT1 wild type and mutant 

SIRT1
R446A

. B) Dose-response curves of 1 against SIRT1 wild type and mutant 

SIRT1
R446A

. C) Lineweaver-burk plots of ac-RHKKac-AMC peptide for SIRT1 wild 

type and SIRT1
R446A

 in the absence and presence of 50 µM of 1.  

 

A) 

 

 

B) 

 

 



 

 

 

S13

C) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

S14

Figure S7. A) Ramanchandran plot of “SIRT3/ac-RHKKac-AMC” complex crystal 

structrure. The statistic result of the plot was listed in Table 4. B) Ramanchandran plot 

of “SIRT1/ac-RHKKac-AMC” complex model structure. The plot revealed that 

95.33 % residues are in the preferred region, 3.89 % residues in the allowed region, 

and 0.78 % residues in the outlier. 

 

A) 

 

B) 

 

 

 



 

 

 

S15

References 

1. He, L.; Zhang, L.; Liu, X.; Li, X.; Zheng, M.; Li, H.; Yu, K.; Chen, K.; Shen, X.; 

Jiang, H.; Liu, H. Discovering potent inhibitors against the beta-hydroxyacyl-acyl 

carrier protein dehydratase (FabZ) of Helicobacter pylori: structure-based design, 

synthesis, bioassay, and crystal structure determination. J. Med. Chem. 2009, 52, 

2465-2481. 

 

2. Boehlow, T. R.; Harburn, J. J.; Spilling, C. D. Approaches to the synthesis of some 

tyrosine-derived marine sponge metabolites: synthesis of verongamine and purealidin 

N. J. Org. Chem. 2001, 66, 3111-3118. 

 

3. Denny, W. A.; Wilson, W. R.; Stevenson, R. J.; Tercel, M.; Atwell, G.J.; Yang, S.J.; 

Petterson, A.V.; Pruijn, F. B. Nitrobenzindoles and their use in cancer therapy. PCT Int. 

Appl. WO2006043839, 2006.  

 


